[EDEXCEL HIGHER Nov 2019 Paper 3]

7

1 (a) Expand and simplify ()@x— 9)
2~

x* - qx + 5x -ys
= x*-uyx -ys

(b) Factorise fully 9x* + 6x

X -Ux-Uyg
@)

3x(3x+2)
@)

(Total for Question 1 is 4 marks)
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~ A
2 Expand and simplify S5(p+3)-2(1-2p)
S5p415-12 +yp

= Q0 +1%

(Total for Question 2 is 2 marks)
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( )
2 Expand and simplify (r@)m-ll- 3)
27
L
M 2O o+ Im y
1
z M- ¥ \OM 1|
(Total for Question 2 is 2 marks)
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3 (a) Expand and simplify 3(y —2)+ 52y + 1)

’55—\,-\- \0}) -\'5

9
\2 | 33%’33
= - g
J S
131;313
z
........ \Vhy-L ] =
o |E
(b) Simplify  5u*w*x Tuw? ';
3
..... Bwow
(2)

(Total for Question 3 is 4 marks)
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A
9 (a) Expand and simplify (x —2)(2x + 3)(x + 1)

" ' Tip: First multiply out the
L 5X X -6 first two brackets as normal

1
11X -xX -6
Tip: Multiply the 2x* by
x . -
AL - - < 4 everthing in the second
( L) ( l ) bracket, then repeat for

3 2 the -x, and then for the -6
= 21X +1LX -X -%X -bx - b

I

3 2
2X ¥+ X -1x -4,

3)
Y xzy _ y—3
y
Uern-1 [=]-3
(b) Find the value of n. 2¢+n |- 3
- ‘L - 2
NI[=|-§
AAAAAAAAAAAAAAAAAA -
(2)

(¢) Solve 5x*—4x—-3=0
Give your solutions correct to 3 significant figures.

Tip: Because you have been told to give your answer to 3 significant
figures, you will need to use the Quadratic Formula

Y - t,lb"—qo\c

-k 2o
-}

"

0
b
¢

1

- (-u) £ Jrun-ds )3
2(5)

X=1117 ov -0.411

(Total for Question 9 is 8 marks)
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10 Show that (x + 1)(x + 2)(x + 3) can be written in the form ax® + bx?>+cx + d
where a, b, ¢ an re positive integers.

-

= X+ 1X + X+

T

::%:: :(‘xi*’bx*t)(x*g>

-

El - x®r2axx3xX 4 Ax F2X + 6
E ) 2

9 = X A6X Fllx 4+

=

(Total for Question 10 is 3 marks)
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12 (a) Express al

+
x+2 x-4

x(x-y) | x(xr2)
(x+1)(x-y)  (x+r2)(x-y)

x (X-u)+ 1x (x+2)
(v x1Y(x-4)

I

= vyt
(x-1) (k- 4)

(b) Expand and simplify (@3)(4x +5)
2

=2x %% -bx -9

- L

= X - 3x -q

as a single fraction in its simplest form.

Tip: To add fractions the
denominators must be the same

x5oux v ot 4 bx
(x+1)(x - y)

Tip: First multiply out the first
two brackets as normal

Tip: Multiply the 2x* by
everthing in the second
bracket, then repeat for the

('LX'L’?JI -9 )(L\X,-l',g) / -3x, and then for the -9

= ¥x” 40 X 15X - 3o -y

= 3¥ -1x” - 51X - us5

(Total for Question 12 is 6 marks)
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12 Expand and simplify (x —2)(3x +2)(2x + 3)

(x-2)(>x4x2)

3x* +2xX -bx -4
(ox* -ux -4) (2x+3)

3 2L
bx + ax -23:1,\236—%36 -1
X’ +x - 20x - |2

(Total for Question 12 is 3 marks)
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13 Show that

x— 1)(x + x —3)=12x"+47/x* — 62x +
Bx-1) 5)(4x —3) = 12x* + 47x* — 62x + 15

for all values of x. Tip: Just work

-
-

1)1',1' r15X - - S out the answer

= % ¥ \WX-6
(5 * \Wux-G)(ux-3)

1
\ix®-aAx & S - 42x -10XxX + |5

‘5
LX ¥ 41X -bax + IS

(Total of Question 13 is 3 marks)

howtorevisemaths.co.uk

K

KX

20202020205

VAUV SHLNIZLMMIONOd

XS

X




[EDEXCEL HIGHER Nov 2019 Paper 2]
\

7

15 Expand and simplify (3x + 2)(2x + 1)(x — 5)
22

bx® «+ X +Ux +1

= (6x*+ x5 2)(x-5)
2 1 2
2 bX'-%0x £ 1X - 26 ¢ 12X -|0D
3
6x’ - 13x*_22x - 10

-
-

bx’. 1%% -33x 10

(Total for Question 15 is 3 marks)
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18 (a) Show that (@ 3)(3x + 7) can be written in the form ax® + bx* + ¢cx + d

where a, b, ¢ and ¢ integers.
1
LX +6x +xX+ 73
= (2x "+ 1x +3)(3x+1)

= (>’xs+qu7'4- 1,\)(1'4- UAX +4a4X + 1\

= anq’ ¥ 25%° 4 5% + 2|

3)
(b) Solve (1-x)| 2%
r r Tip: This is a quadratic equation, when you
square root you need to consider the positive
l-x |[=] * 2 and negative square root.
5
| -x |=| 2 oe |- x |=|- 32
s S l
1Xx + X +x + PU“‘
=|>
s IRRERES
-2_ - 3 . 3 S
S S S <
O'q = x ‘t b = x

O.ULx ¢ 1L

(Total for Question 18 is 6 marks)
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7

1 (a) Expand and simplify ()@x— 9)
2~

x* - qx + 5x -ys
= x*-uyx -ys

(b) Factorise fully 9x* + 6x

X -Ux-Uyg
@)

3x(3x-2)
@)

(Total for Question 1 is 4 marks)




[EDEXCEL HIGHER June 2018 Paper 3]

~ A
2 Expand and simplify S5(p+3)-2(1-2p)
S5p415-12 +yp

= Q0 +1%

(Total for Question 2 is 2 marks)
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2 Expand and simplify (r@)m-ll- 3)
27
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(Total for Question 2 is 2 marks)
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3 (a) Expand and simplify 3(y —2)+ 52y + 1)

’55—\,-\- \0}) -\'5

9
\2 | 33%’33
= - g
J S
131;313
z
........ \Vhy-L ] =
o |E
(b) Simplify  5u*w*x Tuw? ';
3
..... Bwow
(2)

(Total for Question 3 is 4 marks)
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9 (a) Expand and simplify (x —2)(2x + 3)(x + 1)

" ' Tip: First multiply out the
L 5X X -6 first two brackets as normal

1
11X -xX -6
Tip: Multiply the 2x* by
x . -
AL - - < 4 everthing in the second
( L) ( l ) bracket, then repeat for

3 2 the -x, and then for the -6
= 21X +1LX -X -%X -bx - b

I

3 2
2X ¥+ X -1x -4,

3)
Y xzy _ y—3
y
Uern-1 [=]-3
(b) Find the value of n. 2¢+n |- 3
- ‘L - 2
NI[=|-§
AAAAAAAAAAAAAAAAAA -
(2)

(¢) Solve 5x*—4x—-3=0
Give your solutions correct to 3 significant figures.

Tip: Because you have been told to give your answer to 3 significant
figures, you will need to use the Quadratic Formula

Y - t,lb"—qo\c

-k 2o
-}

"

0
b
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1

- (-u) £ Jrun-ds )3
2(5)

X=1117 ov -0.411

(Total for Question 9 is 8 marks)
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10 Show that (x + 1)(x + 2)(x + 3) can be written in the form ax® + bx?>+cx + d
where a, b, ¢ an re positive integers.

-

= X+ 1X + X+

T

::%:: :(‘xi*’bx*t)(x*g>

-

El - x®r2axx3xX 4 Ax F2X + 6
E ) 2

9 = X A6X Fllx 4+

=

(Total for Question 10 is 3 marks)
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12 (a) Express al

+
x+2 x-4

x(x-y) | x(xr2)
(x+1)(x-y)  (x+r2)(x-y)

x (X-u)+ 1x (x+2)
(v x1Y(x-4)

I

= vyt
(x-1) (k- 4)

(b) Expand and simplify (@3)(4x +5)
2

=2x %% -bx -9

- L

= X - 3x -q

as a single fraction in its simplest form.

Tip: To add fractions the
denominators must be the same

x5oux v ot 4 bx
(x+1)(x - y)

Tip: First multiply out the first
two brackets as normal

Tip: Multiply the 2x* by
everthing in the second
bracket, then repeat for the

('LX'L’?JI -9 )(L\X,-l',g) / -3x, and then for the -9

= ¥x” 40 X 15X - 3o -y

= 3¥ -1x” - 51X - us5

(Total for Question 12 is 6 marks)
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12 Expand and simplify (x —2)(3x +2)(2x + 3)

(x-2)(>x4x2)

3x* +2xX -bx -4
(ox* -ux -4) (2x+3)

3 2L
bx + ax -23:1,\236—%36 -1
X’ +x - 20x - |2

(Total for Question 12 is 3 marks)
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13 Show that

x— 1)(x + x —3)=12x"+47/x* — 62x +
Bx-1) 5)(4x —3) = 12x* + 47x* — 62x + 15

for all values of x. Tip: Just work

-
-

1)1',1' r15X - - S out the answer

= % ¥ \WX-6
(5 * \Wux-G)(ux-3)

1
\ix®-aAx & S - 42x -10XxX + |5

‘5
LX ¥ 41X -bax + IS

(Total of Question 13 is 3 marks)
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15 Expand and simplify (3x + 2)(2x + 1)(x — 5)
22

bx® «+ X +Ux +1

= (6x*+ x5 2)(x-5)
2 1 2
2 bX'-%0x £ 1X - 26 ¢ 12X -|0D
3
6x’ - 13x*_22x - 10

-
-

bx’. 1%% -33x 10

(Total for Question 15 is 3 marks)
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18 (a) Show that (@ 3)(3x + 7) can be written in the form ax® + bx* + ¢cx + d

where a, b, ¢ and ¢ integers.
1
LX +6x +xX+ 73
= (2x "+ 1x +3)(3x+1)

= (>’xs+qu7'4- 1,\)(1'4- UAX +4a4X + 1\

= anq’ ¥ 25%° 4 5% + 2|

3)
(b) Solve (1-x)| 2%
r r Tip: This is a quadratic equation, when you
square root you need to consider the positive
l-x |[=] * 2 and negative square root.
5
| -x |=| 2 oe |- x |=|- 32
s S l
1Xx + X +x + PU“‘
=|>
s IRRERES
-2_ - 3 . 3 S
S S S <
O'q = x ‘t b = x

O.ULx ¢ 1L

(Total for Question 18 is 6 marks)
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